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rurr er of an element decreases

— r~’° JOmes more negative

_ :n_volves the gain of electrons
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O){/‘r‘ Btion. — reduction reactionse
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PAIWays occur as a pair
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T n“ OX|dat|on number of a
rrm ‘element is zero

= .Regardless of it is "monatomic”
= orif it has a subscript

;/ Examples: Mg, O,, P.,, Zn



Dete mg é! atlon-launf‘ rS‘"

. IThe OX|dat|on number of a
rr Jf tomic” ion is the same as

S tE charge of the ion
== .~’3l\la+ has an ox# of +1
“j--  S2- has an ox# of -2

e Fe3* has an ox# of +3

e [- has an ox# of -1



PEIEIMining ox!datiomaumﬁe‘r‘é"

BIIhe sum of all the oxidation numbers of

gllftherelements in a substance is the
5_:]'* ‘as the charge of the substance
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=2 he Ox#'s in a neutral compound must all
3 dd up. to zero

"o The ox#'s in a polyatomic ion must all add
up to the charge of the polyatomic ion



DEtermining oxidation nu bers.
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) r' e OX# of fluorlne IS - 1

) r*‘ 310x# of hydrogen is +1
except In a hydride, where it is -1

-~ ex: LiH, CaH,

6) the ox# of oxygen is -2

except in peroxides and superoxides
ex: H,0,, KO,, OF,
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